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 Question  Answer Marks AO Guidance 

1   𝑎

1−𝑟
 used M1 

 

1.1a 

 
a and r are numerical values; a = 9 and/or 𝑟 = ±

1

3
 

   9

1±
1

3

 soi M1 1.1  

   27

4
 or 6

3

4
 or 6.75  cao isw A1 1.1 if unsupported allow SC2 for correct answer   

    

    [3]   

2 (a)  (𝑥 ± 6)2 and (𝑦 ± 4)2  M1 1.1 completing the square twice soi 

 

   r = 7 not from wrong working A1 1.1 NB (𝑥 − 6)2−36 +  (𝑦 + 4)2 − 16 + 3 = 0 oe 

allow B2 for r = 7 unsupported 

   Alternatively 

 ±2𝑎 = −12 𝐨𝐞 and ± 2𝑏 = 8 𝐨𝐞 

 

r = 7 not from wrong working 

 

M1 

 

A1 

 

  

 

 

NB 𝑟2 = 62 + 42 − 3 

    [2]   

2 (b)  (6, ‒4) B1 1.1 FT  (𝑥 ± 6)2+ (𝑦 ± 4)2  

 

or FT ±2𝑎 = −12 𝐨𝐞 and ± 2𝑏 = 8 𝐨𝐞 

 

    [1]   




